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Instructions:

. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE

TOLD TO DO SO.

. If the information printed on your answer sheet is not correct, please

inform the invigilator immediately.

. Please use a pencil and write your answers neatly ONLY on the

answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

. Unless otherwise specified, all answers must be in exact value and in

its simplest form. Writing the units for the answers is NOT necessary.

. Rough-work sheets provided will be collected at the end of the contest

but they will not be marked.

. Diagrams in this question booklet are not necessarily drawn to scale.
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1) 153-67="° [1%]
2) 41+79=2? [1%]
3) 503-279=7? [1%]
4) 537+473=2° [1%]
5) 7x56=7? [1%]
6) 648+6=7 [1%]
7)) 903+7+3=2? [1%]
8) Tx27x5=7? [1%]
9) 306-6x13="° [1%]
10) 288 -389+186=7 [19%]
11) 89-17-17-17-17+17-17=7? [1%]
12) 26-76-26%x8+52%x5=7 [1%]
13) (58 +72)x 89+ (58+72)%x62—51x(58+72)="? [1%]
14) 5x125x4x6x2x25="7 [1%]
15)  32+30+28+...+4=11+7? [1%]
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16) Elly and Bob finished a sprint in under 1 minute. The stopwatches [2%]
below show the times they needed to finish the sprint. By how many
seconds is Bob slower than Elly?

INERIEZBALL DS — 55 # e H] SE IR REEL SR - DU RDERECHR 1
firMIpTTERiR e » Z2BRHEENEE 2/ DD 2

Elly Bob
/NE a0
17)  The smallest 4-digit even number that can be formed with the [2.1%]

number cards below i1s ?

EEIVRIN oy TR - ZANA KV =21 o =

51 11/18||4|]|2
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18) The weight of O is_? g [2.2%]

O EERE__?2 -

19) For the same notepad, shop A4 sells it for $57 more than shop B. [2.3%]
Shop C sells it for $28 more than shop A. What is the difference

between the prices of the notepad between shop B and shop C in
dollars?

AR > JEALLIE BEE ST ° J5 CEoiE 4 5 H 28
JC ° Ak EECAEN B EATE CHYEBES/DIT ?
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20) Jacob wants to share 97 chocolate bars with 6 friends evenly. He [2.4%]
realises that 97 bars are too many to share evenly, so he gives the
extras to his sister. At least how many chocolate bars does Jacob’s
sister receive?

HMESETREL 6 (AT L5797 PRI 5 0% - 38R 97 (R 1>
AREVI7 > LA 2 ARG T ARk - HESSAA IR AR/
W2 DERTS e 18 7

21)  Use the following number cards to form a 4-digit number with the ~ [2.5%]
largest difference from 5000.

FEL N B R A B2 5000 AH 7 e RHYPUAZEL -

11816831
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22)  Abag can hold at most 13 tomatoes. [2.6%]
At least how many bags are needed to hold 103 tomatoes?

— &AL 2 FI A 13 {E=E A0 -
T 103 {[EF hnfe/ VA E 2/ EdeE 2

23) The length of &————=>> is longer than the length difference [2.7%]
between (0> and o< by 7 cm.

e ERE o< WEEYEE 2 -
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24)  The number of students in school B is 491. The number of students [2.8%0]
in school 4 is twice of that in school B. The number of students in
school C is 239 fewer than that in school B.
What is the total number of students of these three schools?

LAV AE NBURy 491 N - FHERO SR 28 NS Ry LS

% - PREMRIEER A A BILL 2R D 239 -
SRR A A S DA 7

25) ? mm=31m+30lcm+ 13 mm [2.9%]

?  Z2k=31Kk+301 EHK + 13 2K

26) 768+6+8=__ 2 +3+2 [3%]

27) Bob arrived at the bus stop to wait for a bus 19 minutes earlier than [3-1%]
its scheduled time. However, due to a traffic jam, the bus arrived 31
minutes later than its scheduled time. Bob decided to take a taxi 14
minutes before the bus arrived, and he reached his destination in 1
hour and 7 minutes, that is, at 01 : 08. When did Bob start waiting
at the bus stop? (Answer in 24-hour time.)

EfAEEE LAY TEE BB E F 19 s B LuhFH e L -
AR o AR SE - B LEETHEREE T 31 Sy gk o 1M
EHECAEZE LRUEAIRY 14 75 L8 /R - A 1 /N 7
Jr#Er% > B 01 : 08 » F7zE HAVHY - A e TUAFRIa S RrH VY
M2 2 (DL 24 /R IfERS < )
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28)

A 1s a 3-digit number and B is a 1-digit number. If the hundreds [3.2%]
place of A , the tens place of A , the units places of A and B are
different numbers, what is the largest possible product of A and B?

WA =8 A FI—{l —(r8 B - 4R A BVEAL ~ AHYF
fir ~ A BIHEALA B HVETFHAE > A B B BIfER AE %0 ?

29)

Tom had a busy Monday. He spent half of the whole day working at [3-3%]
his job. He then spent half of the remaining time on community

service, during which a third of the time he played games with

children and tidied the library. After the community service, he

spent a quarter of the time left to attend an online class.

For how long in minutes was he in the online class?

(Ef# R IR IR - & R-FREE LI - 2R T
RF NHFREIR— 20t AR - & A =5 2 —HIRFEED
FERIE PN EY 5 BB B R B 5 6E - 1 E AR &SRR - A
R NEFREIRY oy 2 — E4EER - A EEER B T 2o 2
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30) There are over 300 students in a hall. Trying to divide them into 6 [3-4%]
groups evenly results in two extra students. However, they can be

divided into 7 groups evenly. At least how many students are there
in the hall?

SE A DL 300 Mg - EEUEERE o 6 By - g2
WS - 2RI > ERAEMTRT DAY 70k 7 % - R NERDAES

G ZUWN

31) If p, g and r are whole numbers that are greater than 0, what is the [4%]
units place of the value of the following expression?

TXTXTX . XTXS5XS5XS5X  X5XxEXxExXEx XK
A\ ~ J ~ J U ~ J
p‘T’s q‘5’s r‘8’s

W1 p g 1 r AT O BTSE  FHIEIA A BB R
2%

TXTXTXOXTXIXIXIX XS XZXEXEX ... X8

J

Y Y
p A7 EER i 8
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32)

There are 1320 students in a school, 469 students can play the
piano, 813 students can swim, and 97 students can neither play the
piano nor swim. How many students are there in the school who
can either play the piano or swim in total?

— IS 1320 258242 - 469 LA TEISERES > 813 R E
ik - B 97 BEARERIF KA E - B2 EEEZ DA
ST ER B S 7

[4.1%]

33)

At most how many squares of side length 7 cm can be cut out from
a rectangle that is 87 cm long and 53 cm wide?

—fE & 87 [EoK - FE 53 EORMYRITIE > B2l Loy BIR /D (E
B T ERIVIETTIE ?

[4.2%]

34)

Steve combined some straight short toy tracks into a larger track
made up of 6 equilateral triangles as shown in the figure. Each toy
track 1s 9 cm long. If a remote control car needs to go through each
short track at least once, what 1s the least distance it needs to travel
in mm?

AN EIFTR » ANEE LU ES 9 EDR RV EARFEHF —(E 6 (E
FEZAPHREREE - ARG ERR R R R (EEE
IE— Bt D —R - EFREI TRV R %/ bk ?

[4.3%]
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35) There are nine types of weights numbered from 1 to 9. One of them  [4.4%0]
weighs differently from the other eight. A student compares the
weights in different combinations using three different pairs of
spring scales, A, B, and C.
Observe the figure below carefully, the weight that weighs
differently from the others is number _ ?

WA V92 99t > 3L O fabAnS > H o —fRikiGay B S ELEAN 8
FEARE - —EEDLA ~ BRI C ZH A ERYEEFFLLE AR FE4H
EHIRARS -

fFasss NE - BB AL 8 A [ERVEANEE _ 2 97 -
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36) Anna, Bell and Calvin are combining their money to buy a sofa. [4.5%]
Anna contributes three times more than Bell. Calvin contributes
$328 less than Bell. If the sofa’s price is $4202, how much, in
dollars, does Bell contribute?

24~ BRAFLEEE —RIE - Z T HAYEEE R 3
f& o GISTHRILEE 5/ 328 T  ANRMU LAVEEE Ry 4202
Tt ERMAH T ZIT?

Cgo

37) Observe the figure below carefully, aweighs 7 g [4.6%]
MBI TE —p w2 g

o o
u o=
1 1

OF\O&E(O OEO OF—

o —
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38) A new teacher wants to find out who can be trusted among 3 [4.7%]
students, Ada, Bella and Charlotte. The teacher asks them whether
they are truthful. Ada says she is a truthful person but the other two
always lie. Bella is too shy to answer, so she tells her answer to
Charlotte. Charlotte reports that Bella said she is a truthful person.
Who is truthful?

— T e ENE ~ NERUND = AR SRR E Y
4 - ZETHEMMTESRERA o DNESME—ERENA > 5
SN N EAER R - DNBEIREZ - AEEE - FrLlitEEES

NI o ANTbER /N BB E O EEE YA ¢ Sl EHY

=35 s
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39)

Student 4 and student B are playing a game. The winner of the [4.8%]
game is the one who wins 4 more rounds than the opponent. How

many win-loss combinations are there for student 4 to win the

game at the 12" round with 8 wins?

B34z A B4 B AEDT—(EHEEK - fICLbH 5205 4 (@SR A
Ry HE - B 2/ D ERs M S a2 4 nILIESS 12
=& DL 8 BFHIRAR - R RSk 3 2
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40) A teacher picked two different numbers from the numbers 1 — 9. [4.9%]
The teacher told student A4 the product of the two numbers, then
told student B the sum of the two numbers, and told student C the
difference of the two numbers. These three students are trying to
guess what the two numbers are. Below is their conversation.

Student A4 said ‘I don’t know what the numbers are.’

Student B said ‘I don’t know neither.’

Student C said ‘I’m not sure. How about you 4?’

Student A4 said ‘Oh! I know what the numbers are now. What
about you two?’

Student B said ‘I still can’t tell.’

Student C said ‘I know now!’

What can the numbers that the teacher picked be?

(For example, if the teacher picked 1 and 2, write (1, 2).)

(If there are multiple pairs of number, you must correctly answer all
the pairs correctly.)

EAE | % 9 s T IEREATRE - S A T
AT FEEE B RIS IR Bk S C RS
FHIE o SHEE BRI ERTRARE - MRS
5 -

B AR T BN A R T -

Bk BRI -

B Co 1 TR REHEE © A {RATETS 7

B AR T RAE T ER TR ET o AP ?

Bk B T RBR A

B CH R T

T B TR R 7

(> AR T 1612 HER(L2) )
HIRERS BT WEEEFAES )

End of paper
EETE
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O
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O
Qs 224 1313 000 » 5 3 84
O O O O @)
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[e]
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O O O O O
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i Q40 answer must include both combinations. gl




